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1) 2T AIE
b ZZ2E =3
=X (2reet) =x 2
JIZ=RL (2Helel)
S#1 S#?2 S#1 S#?2
252t 2l 0|5} 13.3 13.0 ot = or =
Lh) EAZE =F (6m 0l&Q XI=XH)
=ZJgt (2+2e}) =X 2
=E3A (%) JlE=gh (2Hdel)
S#1 S#2 S#1 S#2
10U ~ 10D|45R ~ 45L 0.6 0|4t 8.2 7.7 o = oF =
H V 4.0 0|4t 13.2 12.9 or = oF =
2) M AIE
. =33
N =3 2
= ol &= 3t S#1 S#2
X
= X y z X y z S#1 S#2
1 0.5935 | 0.4065 | 0.0000 | 0.5828 | 0.4168 | 0.0004
2 0.5918 | 0.4082 | 0.0000 | 0.5827| 0.417 | 0.0003
1 Xit%l—/\ﬁl-l
310.440 =y = 0.390|0.5923 | 0.4077 | 0.0000 | 0.5828|0.4169 | 0.0003 | ©GF = ot =
— 2 <0.010
4 0.5924 | 0.4072 | 0.0004 | 0.583 | 0.4167 | 0.0003
5 0.592 | 0.4076|0.0004 | 0.5833|0.4167 | 0.0000
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= mm (o) = 2 = & dt(med/lux) =32

S#1 S#2 S#1 S#2

10U Vv 500 1057.0 975.0 o= | 2=

5U 20L 250 584.0 613.0 o5 | B =

5U 20R 250 762.0 762.0 oF = | B =

0.33 H Vv 750 1225.0 1182.0 o= | 2=
5D 20L 250 486.0 475.0 g = | BF =

5D 20R 250 674.0 629.0 gt = | B =

10D V 500 927.0 1230.0 gt = 2=

10U Vv 7 47.5 42 .1 o= | 2=

5U 20L 6.25 16.4 22.0 o= 2=

5U 20R 6.25 30.5 25.3 oF = | B F

1.5 H Vv 12.5 114.6 112.2 o= | 2=
5D 20L 6.25 19.3 21.9 o= | 2=

5D 20R 6.25 31.6 25.7 o= | B =

10D Vv 7 66.4 62.3 ot =& | Bt =
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